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2.5.14 Résoudre les équations suivantes.

a) Vvi—z=2-—75

b) z=4++v4z-19
1) N1 -Xx = X-5
condubion ¢ F-X =20 + X
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Reseluons  aotte  equation :

\i }-X = X -5 ( )l vév(é\'e)r O Sr?;;jc[ou
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3 - X - (x ~3) cL
T -x = X™-A0x+25 -1 + X
O = x*-9%X +18 &

x2-9% 419 = O
(X- €)(x=2) =0

1) X =6 <4 22) x =3 <1
Ve()fi @\'CA%\'M\ . 3 -4 = £ - 5 \/ Vé;‘rié(C&bow : \‘ 1 - 3 # 32 -5
1 = 2 4-19
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b) x=4++v4z—19

Cov\dxﬁevl : 4X -49 20 + 19
HX 219 = 4

Xz 435
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X“=3X t46 = 4 X —419 ~4X +19
xT-42X 1 35 =0
(X-’ SXX -4 ) =6
) X =5 2°) x=13
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